QL.

Q2.

Q3.

Q4.

8 (i) yp-step + x-step=2 Ml Gradient = y-step + x step used
21
@) EgnofAC y+2—-2(x—3) M1 AlY | Correct form of one of lines. ¥ to his m
Eanof BC v—22—(x—15) Al V to hism
Simeqns y4+2x—4, y—x+7
- C(-1,6) Al co
[41
(i) Mis (9, 10) Bl co
Perp gradient is -2 Ml Use of mymy =—1
- 2y+x—29. y—x+7 Ml Solve sim eqns for their BC & perp. bis
Simeqgns — D(5,12) Al co
[41
8 () Mid-pointof AC=(2,3) Bl Co
Gradient of AC="/;
Gradient of BD= -3 Ml Use of numa = -1
Equation y—3 = -3(x - 2) Al Co
31
(i) Ifx=0,y=9,B(0,9 B1v ¥ on his equation.
Vector move D (4, -3) MI Al Valid method. co.
_ 31
(iii) AC = /40
BD = 4160 M1 Correct use on either AC or BD,
Area =40 M1 Al | Full and correct method. co
{or by matrix method M2 A1) 31
x v
3 =4—=]
a b
P (a, 0y and {0, b)
Distance — (@’ +5% |- /45 M1 Al
Gradients —» __b" il M1 Al | Ml even if sign(s) incorrect.
2
Solution of simeqns — a =6, b =3 Al Correct values a and b (both)
I51




9 N M=(1,4 gradient = % sol B1B1
grad of MB=-2 soi M1 Use of mym, = -1
Equation MB :y —4=-2(x—1) Al Or y=-2x+6 ftontheir aorM
Wheny=0,x=3 or B=(3,0) Al ft result of putting v = 0 into their eqn
151
2 6 . A
(ii) grad of AB=— - ; grad of BC= > oe M1V At least one correct ¥
mm, ——(= AB L AC) Al AG Allow omitted conclusion
121
(ili) D=(-1,8) B1
AD= /40 or 632 Bl
121
Q5.
7 A(2,14), B(14,6)and C(7, 2).
@) | mof AB=- Bl
m of pemendicular = 3 Mi For use of mym; = -1
eqnof AB v—=14= -%(x—2) M1 Allow M1 for unsimplified eqn
eqnof CX y-2= %(x—?] Ml Allow M1 for unsimplified eqn
Sim Eqns — X (11, 8) MI1 Al [61 | For solution of sim eqns.
(ii}) | AX: XB=14-8:8-6 =3:1 Ml Al Vector steps or Pythagoras.
Or V(9%462) : V(3429 =3: 1 [2]
Q6.
2 | (D (3%.2) Bl
M
-1-5
(ii) m-— — Bl
5 . 3
v—6=_—l{x—8} Ml Useof mm=—landy—k=m{x -k
m
x—2y+4=0 Al Accept any form
31
Q7.




7 (i) mid-point=(3,4) Bl soi
Grad. AB= - — grad. of perp.,=2 M1 For use of —1/m soi
y—4—2(x-3) M1 ft on their (3, 4) and 2
y—2x-2 Al
[41
(i) g—2p-27 p2+g>—4 oe B1/ Bl | fi for 1™ eqn.
P’ +(2p-2F -455p> 8p-0 M1 Attempt substn (linear into quadratic)
{ORVi{g +2V +q°> — 4> 56" +49-12-0} & simplify
(0,-2) and (%g) AlAl
[51
Q8.
3 (i) gradient of perpendicular =-% soi Bl
y—l=—Y%(x-3) Bl
[2]
(i) C=(-9,6) Bl soi in (i) or (ii)
AC=[3 (NP +[1-6] (fton their C) | Ml OR AR =[3-(—21)F + [1-11] Ml
AC=13 Al AB=26 Al

31

AC=13 Al




